Which survey method is adopted in majority villages in Tamil Nadu?

(A)  Punganoor survey (B) Simple triangulation survey

(C)  Diagonal and offset survey (D) Angle survey

SOIDPBTLIg6 QLBbLTOTET SFToBiSET 6Ths Ble SeTanel (panm LaTLHDUILLH euHSmg?
Q) yrsanrT eraeu B wsCaranid SeTencl

C) eyl QakmiEsg SeTana D) Camenr ojereneu

In one kandam dry lands areas of the extent is fixed approximately hectares.
(A)  from 100 to 200 hectares (B) from 200 to 300 hectares

(C)  from 80 to 120 hectares (D) from 40 to 80 hectares

(I SETLLD Lj@henall LiGdlufled som QansCLir urlibe @més CeuamT(Hib.
A) 100 apsed 200 QansGLit (B) 200 wpsed 300 QamsGLit

(C) 80 wse 120 QansGLit (D) 40 wpged 80 GansGLit

What is the name of the Register showing the new correct survey and subdivision with
reference to old Survey and Submission No.?

(A)  Correlation Statement (B) Old and New Register

(C)  Area Register (D) Tax Register

alCleur@m uepwl Hloo eTenel GTETEMIGGL  Fo@FWTer LFw Bl SjeTenel  Ljedengubd
2 " 19feysemaerd ST GHILICUL Iqer GluwiT

A)  Qsrimy eflerés @GMOIGUE B)  vepw yHw uHCau®

(C)  urduerey LHCau(® D) Sireweu LHCeu(h

At the time of , variation of Pattadar land’s and nature of taram should not be
followed.

(A)  Correction of bends (B) Equalisation of bends

(C)  Verification of bends (D) Deletion of bends

2 amLend Bleomger o Menn peppud Hrepd Ceumumid Cumg (PenDSEET
LWL (W SS&8LTG).

A)  cumerayser #MGFLIge (B) cuanareyser soemU (HSSIS60

(C)  eumerajser sflumigsen (D)  cuemareyser B&ES0

Every land holds, the Revenue is calculated according to its

(A)  Soil (B) Taram
(C)  Yield (D) Area
@eUCeUT(H 2L m&E@D AsaFen uTnSs STameu sausS LGS ng
(A) LD 68T (B) spb
C) ws@E® D) urduerey
3 086/DM/18
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6. How many years time fixed to file Civil Court after the publication of final Notification
under Survey and Boundaries Act U/S 13.

(A) b5yrs B) 3yrs

(C) 10yrs D) 1yr

Hlo ojerened eTévene FlifewTwd &L b 13eug) 19Meller L. (piq.aimen idléans Ceuatudl il (h ergsenet
2T (HSET (plgeur@Gper Slafled Camriiqed aupsiE ETHEEW o MendHEL L g)?

A) 5 yarpser B) 3 yea@r@Hser
©) 10 gy e ser D) 1 <yea®
7. If the lands belong to a person or Poramboke lands, waste lands registered in the Revenue
Alcs. that kinds of land is called
(A)  Subdivision Field (B) Waste Field
(C)  Poramboke Field (D) Revenue Field
@@ sai pufer 2 amLamwCur ypbGursCsr gha HlaoGor, aumeurl gen sars@seflen Ll
Qubmeil L issamaw HloliLgdleau eTe A LP&HE CmLD.
A 2.019fey yeod B) sflsyem
(C) ypwGumsa Leld D)  eumaur giewm Leold
8. While Surveying, in long narrow fields the approximate length should be metre taken into
account.
A 20M (B) 200M
(C) 100M (D) 500 M
#Gou Qaiyb Curg Sar Gniseorer HosHna@ swmyrs B Berd erevm Camerrer
Coua(HLd.
A 2080 (B) 200
(C) 1008 (D) 5008
9. What is the name of the paper to find the area of the FMB?
(A)  Area Circle Paper (B) Area Square Paper
(C)  Area Triangle Paper (D) Area Paper
HooliuLgdled uipliLerened ser(hLilig&sliLmhib srertler ClLwT eremer?
(A) Ll eul L e (B) urpdinerey g smer
(C)  uriy w&Cament rer (D)  ugliy grer
10. Revenue Dept Survey relates to which kind of Survey process?
(A)  Agriculture (B) Yield
(C)  Collection of Land Revenue (D) Topographical
QUHeUT Glanm Hle) leTenal eTlhs feTe] (LPenm|L e GlGTLTL| ClsmeuTLg)?
(A)  eSeusmuwib B) ws@E®
(C) HeosSreneu eumeumi (D)  sealurd

086/DM/18 4



11.

12.

13.

14.

15.

For the land to the extent of 2 Hec to 8 Hectares, what kind of measurement adopted in
sketch (FMS)

(A) 1MM: 1000 MM (B) 1MM: 2000 MM

(C) 1MM:5000 MM (D) 1MM: 500 MM

auanruL gD (FMS) 2 pséd 8 QamsGLim eueny wpliLeaTeyerer Hobs@Eh&E THE U l6Te]
Si@iFfssiiuOS g ?

(A) 1.5 :1000 .18 (B) 1 .8.8:2000 9.8

(C)  1W.65: 5000 .18 (D) 1 .8.8:500 .8

Which instrument is used for the Survey of a village and Khandam boundaries?

(A)  Cross Staff (B) Tape

(C)  Theodolite (D) Chain

SlpmoLd HMID ST LD eTeanasatieh FTGeU iaTés 6Thg (el LiweTU (S ILHEDS ?
(A)  Slgmev evm B) G

(C) HGurLemel D) smda

Which Register is maintained to watch the proper distribution of Notices U/S 15(2) and
expiry date of the notices?

(A)  15() Register (B) 15(2) Register

(C)  Stone Register (D) Acknowledgement Register

Gfley 15(2)er Eprean iMlsamasar sflwmer Ly eNBlGurdssiul Harararer, oidémsauden &raeiamy
Wy BN LT eTerlang seual&s erhg LFGeuh urmomasiuL. Geuer(Hib?

A)  15(1) udCGau® B) 15(2) udHCGau®

C) s ufHGaul D)  euyms uHCGau(

During the Refixing the stones in the nursing point and unable to fix suitably due to the
middle of the Road, River, Odai, Tank that kind of stone is treated as

(A)  Missing stone (B) ‘C stone

(C)  Abandoned stone (D) ‘B’ stone

sremrmonCGurer Lerefleow Slbu Gurmggind Cungl swae LSS TLOTE BL(pgwing LigGuim ojag)
B FTEQ WM, DL, GETLD SHENLDU|LDTETTE) HBS HED 6T &(HSLILIL Gauar(Hib.

A)  sravrmoHCurer &6 B) Cso

(©) sl uul L sphaer D) PBsa

It is the duty of the VAO to inspect minimum stones for every year

(A) 2000 (B) 500
(C) 1000 (D) 1500
<@L @ GeOmHSLILFLD snaerTeugl e Qe Ceuamrigwig Symo Hlieurs
SIIGIGMTET HL_EMLOWIMELD.
(A) 2000 (B) 500
(C) 1000 (D) 1500
5 086/DM/18
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16.

17.

18.

19.

20.

According to Survey Act 1823 Sec. it is duty of the ryots to maintain renewal and Repair of
Survey Marks.

(A) Sec.4 (B) Sec.6

(C) Sec.15 (D) Sec.9

#mGeu e ereneu FL_1b 1823 augl Wfeller Hlov jarencu @GMuihis6T, Lgdliug,)
LpgIumTiLg ugmoflug) S dwueme Flo 2 apLanowimerilen sLenLo.

Q)  deug 9fey (B) 6eug ey

(C)  15eug Wifley (D) Yeug 9fey

During the Survey of a Village, what kind of process of work is a adopted for the drawing of
Traverse Map

(A) H Work Process (B) ‘G’ Work Process

(C)  C Work Process (D) D Work Process

@@ Srmngdler Flo erencuufer Cumg qrmeuiey UL Samg auannse Liewt CnblamereriL(Bn Colame
pan&@ M Cluwim

A) H Geuemwavaperm B) ‘G Cauamapenm

(C) C Ceaumer(penm (D) D Cauamerpenm

For the length of lines above 5 chain, the difference of error not exceed is
allowed for 1 chain 1 link (20 m 20 cm).

(A)  5links (1 m) (B) 10 links (2 m)

(C)  3links (0.6 m) (D) 20 links (4 m)

5 gmdlafla@ CGue Barapdrer Carhseaie em 1 sndlalsg 1 g (20 Bé@ 20 Qg.18) alsdHwurebd
CnGursrs jereiled Wenlp auribL endlssiiuBSng.

A) 5 dmse (1) B) 10 Sisev (2 &)

(C) 3 Smsev (0.6 5) D) 20 Sssen (4 18)

Which Register is necessary to register to final action when there is need to a new
subdivision of a field?

(A) Dharkast Register (B) Relinquishment Register

(C)  Patta Transfer Register (D) TK 8A Register

@@ ogdle ydHw 2 Gfey gnuBidsiur Ceuemgw Hleanuile) 6rebemd (Plqeumar HL el &EamssS,
gL uHCaul g6 LFw Gouetm(HLb?

@A)  sramevg LHCau( B) &peiluy uHGou(

(C)  oferw wrHp LHCeu(h (D) TK 8A udGau(®

If the variation of above 5% is found out in the area of the field or subdivision that is called
(A)  Field Error (B) Survey Error

(C)  Subdivision Error (D) Details Error

uptiueredé 5% ssaisgsdn@ Cuwpul L egHwumsd o HosHCor oag o L 19flelGar sarme
NS orar @GOILLAHECGomLb.

A) yeoulenrwy (B)  Hle ojerenauls Genip
(C) 21906y Genip (D)  eersE anip

086/DM/18 6



21.

22.

23.

24.

During the initial survey of minor Inam villages, while taking re-survey, which method of
survey is adopted?

(A) It should be kept as separate village

(B) Inam villages should be joined

(C) It should be joined nearest village

(D)  None of this above

<rbu Bl ereneuuler @ermbd Srmomiser WassSMlwu o dreteunenm M Hlo jerancuuded erhs
jerenal e Galerr(Hib?

A)  owg gafl fpmowrs meusse, b B) ue Adlw Hyrwrisd @emearss GoueT(Hib

(C)  usssg SmwsgiLen Qeameanss Ceuam®id (D)  @eunile egilldeamea

What is the form of Notice to be issued by the Surveyor to the neighbour village VAO by the
concerned VAO before survey of a village?

(A)  Form No. 10 (B) Form No. 9

(C) Form No. 8 (D) Form No. 7

@ Slpmobd o Sjerenel CSTLBIG e FDUBSILLL &.Hl.o L&ssg Srmo Seaner el med@ Hle
S|eTeUTTE eULPRBISLILIHIWD GBI le 6 Lilg6 6TEwT 678 ?

A)  ugeubd eresr 10 B) uigeud eremr 9

(C)  ugeu erewr 8 D)  uigeud eremr 7

In which Form to get the signature of the ryots at the time of survey?

(A)  Form No. 10 (B) Form No. 11

(C)  Form No. 12 (D) Form No. 13

o sjerenel Cop@amarern Curg), sl fasrrrsailLb eThs LigeusHle ang Guimiub Glum Ceueamr(hib?
A ugeubd erewr 10 B) uigeud eremr 11

(C)  uigeud eramr 12 D)  ugeubd erawr 13

What is the action should be taken, if the land lords are willing to supply stones and coolies
at their own cost?

(A)  Obtain orders from Sub Inspector

(B)  Obtaining orders from Dy. Inspector of survey

(C)  Obtain order from Inspector

(D)  Obtain order from AD survey

BlesSlpriser sn&er smel <l &s6T shisarg Cempg GFweild aupns Fbwsb CsMelsEh UL g&sle
eTeuallg b BLGllgGand 6T(Hda CouamT(Hib?

Q)  Spsert Y uweurerfib 2 §sre| Gup Ceuemr(Hd

B)  smeve guieumerflib 2 576y GLm Ceuamr(hibd

C)  pueurerilLib 2 57| Qun Couar(Hib

D) 25l QusEnilb 2 576 Gun Couam(Hbd

7 086/DM/18
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25. If the supply of stones from contractor or pattadars is delayed what action will be taken by
the surveyor?

(A)  The surveyor will arrange to fix the stone himself

(B) The surveyor will address to Range Sub Inspector of survey to arrange supply of
stones

(C)  Notice to the Inspector through Range Sub Inspector of survey

(D)  Address to Dy. Inspector of survey

&6 @UUBSESTIT (=) Hle 2 flenwmeriser snser sliemer GFlw STOSD eFHULL T Bl jeTeur
eraear QEuiw Gauer (b ?

@A)  srCar gpun®p Qsig sHa6r 2aremm CouemT(hLd

B)  <sert Yyuwerareny erour® Calig) snEeT slianer Galiu Couer(Hib

(C)  UIGUTET(HSE ATHEFTT D UIGUTETT LPELD Heuaddn @ bleea Couamr(HLd

D)  gwerr gy wieumert Csflellss Couemr(hibd

26. What action will be taken by the surveyor if the ryots do not present in the field at the time
of survey of lands?

(A)  The surveyor will return with out surveying

(B)  Surveyor should be done in another day

(C)  Survey will be done in the presence of other ryots and confirmed

(D)  Surveyor will not be done in the presence of other ryots

Hlo erencu Qe Cung TuSgsseT LosHla ymrrasaldamabueail hla ereall ererer Clawiu
Couamr(hid?

A)  sersamoe Fmbu eur Geuem(Hd

B)  Coumi e Brafled yemde Gouemm(HLd

(C)  wHp Twsgssailen (perafleneuiied erhg 2 mid Gauiw Geuesr(HLd

(D) O TwsgIsaTlen (PETL| DaTES Fal_MTg)

27. What is the duty of surveyor if he goes for the location work of field?
(A) He will accompany the ryots and VAO
(B) He need not accompany with ryots and VAOs
(C) He can attend the duty with coolies
(D) He can attend the duty with Field Assistants
@Lb srapib Lanflsa@ Caaed Gurg Bleoiereu eremer Glguwiw Geouam(HLd?
A)  Twggiser Sy Blieurs Digielai s CFde CeuemHib
B) TWSSIESHET &1l Dienpsg Clade Couemmg widlaame
(C)  #wmelwm ger " HLb SPdg CFwo GouamHib

D)  yeo 2 gelwmeriger eneusgl anpdg ClFwa Geouamr(hibd

086/DM/18 8



28.

29.

30.

31.

What is the further steps of a surveyor if VAOs did not present, while the location work of
the field?

(A)  He should not go to the field

(B)  He should go with coolies based on the present revenue

(C)  He should go with field Asst.

(D)  Ales and enjoyment by ryots the surveyor will attended location work

@b srapib uarfludler Cumg) £.16.o mrmseildenablusmmme bleoereur eremer Clguwiw Ceuamm(Hid?
Q)  SeumyosdnE Qs g g

B)  #all <yl s@EHL6n Cave GCeuem(HLd

C)  yeo2galwmearper Qade Colemr(Hid

(D)  spCumegw euHeUT YEUITHRIGET BiqILMLLTEe|D Dailel Ligujb @L 1D sramib Lemnfl
Qe Gauer(HIb

How the revenue fields enjoyed by the individual or jointly are surveyed after classification?
(A) Assessed waste (B) Patta lands
(C)  Govt poramboke (D) Zamin lands

Q@ GUMEUT LdHd emeum WwHMID SHLLTE LT @ueids @b Hosams ereueumm)
aumsLILHSS Sferéss Coua(HLd?

A)  Sieweu ghul L sila B) ulimflob
C)  <rs ypblunss (D) gSer Hleid

How the revenue fields not enjoyed by anyone, are surveyed after classifications?

(A)  Poramboke (B) Natham

(C) Tank (D) Garden

@ eueumil Lesdld wrmGn aueid GQEuwrs Blosams eeieurn elmslUbhsS erss
Couar(Hb?

A)  ypwGurse B)  Bssd

(C) @emb (D) GamiiLib

How many Hectares are formed in dry lands in a Cadastrial survey?

(A) 3 Hectares (B) 4 Hectares
(C) 2 Hectares (D) 5 Hectares
sLmevlq e sTCauulle Ljepens Bleomser erggamar dansGLiflé ojannss Ceuamm(hib?
Q) 3 QansCLien B) 4 QansGLirev
©) 20ansCLien D) 5 QansGLirev
9 086/DM/18
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32. Revenue field indicates
(A)  The lands area of registered in the Rev. records
(B) Many revenue field jointly surveyed
(C)  Govt lands
(D) Waste land
GU(HEUIT GIEHM L{GULD GTEITLIG)?
Q) aumeumi euamhsaefle LFwbd Qupn HleliLgd
B)  ue aumeurls Leomisamer Carsg) emell Ui’ Lg|
C) < Hlonsar
D)  sfl& Hleobd

33. Survey of land indicates
(A) The area of the land is registered in the revenue records
(B)  The land device revenue
(C) Many revenue fields jointly surveyed
(D)  Poramboke
Bley emeneuls LieLd 6TeimLig)
Q)  eumeumi yeuawrhisater LFwiGuHD L@
B)  eumeumi rrilig LD Hlevid
(C)  ue aumeumi Hoomsamer Carsgl SeTall Ll L g

D)  ypwCurss

34. Whether surveyed lands are formed integrating revenue fields?
(A) yes, formed (B) not formed
(C) formed by enjoyment (D) none
GU(HEUMTUI L|eUMBISENET @@r&aﬁ]mm‘{g@] Lﬁ]@) S|ETEEULI L|GULD <EDLDESHEOMLOT?
A) b, Sewss Couam(Hibd B) <iowsEs mLTg
(C)  s@uealitig Sewdss CeuaTHib D) ggoame
35. During the survey of dry lands, if exceeds 20 subdivisions how much area are to be formed in
a field?
(A) 1.60.0 Ares (B) 0.80.0 Ares
(C)  0.40.0 Ares (D) 0.60.0 Ares
#rCauudlev 20 2 1" 19Mey&Emé@E G aumd Cung) Lehangulileh ereucueme] LITLIL| GIETERTL LjeD HenLD&S
Couar(Hib?
(A) 1.60.0 g (B) 0.80.0 g
(C) 0.40.0 g (D) 0.60.0 g

086/DM/18 10



36.

317.

38.

39.

While fixing the stones in the subdivision points what marks should be indicated in the
stone?

(A)  should be indicated P (B) should be indicated PS

(C)  should be indicated S (D) should be indicated +

2 " 9fle| erevanevsafien euenereajsefley smaer BHLD LTS L&sHsatle eTarem jenL WITeTd @)L
Couamr(hib?

A) P eaer gfss Couar(hibd (B) PS cran @gnlss Couanr(hibd

(C) S eran GH&s CouanT(HILD (D) + eran @M&s Couanr(Hd

While surveying Roads, Cart track, Odai, how much meter of breath should be formed as a
field?

(A) 6m B) 8m

C) 4m D) 10m

FTENED, GUERTYLILITENS, @l pdweuharn Sars@h Cung edgmar SLLT Ss05HDE QHbSTeD
LTS enLode Couam(hid?

A 6.8 (B) 8.

€) 4.8 (D) 1018

While surveying roads, Cart track, Odai how much meter of breath should be formed as a
detail?

(A) Belowthe4m (B) Below the 10 m

(C) Belowthe 8 m (D) Below the 6 m

FTENQ GUaTILLILITENG enl <y dweupenn Serd@Gh GCungl ersgemen WL T ASLSHD@GT @(HHSTeD
oS wins oiemnsss Galea(hib?

A) 48l Ep @S GCouan(HLd B) 108 m&@ Ep @ H5s Geuant(HILD

(C)  8BLLm&E & B)(HSs Couar(HLd D) 68L& S Q)mds Couar(Hbd

Before fixing boundary line in the forest local bodies, Govt, and P.W.O lands intimation to
whom will be sent

(A)  Collector B) R.D.O

(C)  Tahshildar (D) All Dept High Officials

euald, 2 ererml &, oips, Gumru.g Blemsefler caameser Blifamub QFUuD PeT WNHEE SH6U6
QzMalss GCeuetr(Hib?

A wmeulL eyl Hwir B) CGarlL o@ieuei

C)  eulimidur (D)  Simarss SIMDSTT AU TEHET

11 086/DM/18
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40.

41.

42.

43.

While survey of long narrow field, the triangles should be formed

(A)  Yes, formed (B) Single triangulation formed
(C)  Angles formed (D) A common ‘G’ line be formed
GOIHW Hodamng SjersH@En Cumg (psCamenhiser Sjannds GCeuer(hd?

A) b, ewss Couam(Hib

B)  gnsrpan psCament (panm SenndHE: Couemt(HLd

(C) Camenr o676 2ienn&s Gaer(hLd

D)  emurg ‘G’ ower awss CouaT(hibd

While surveying, after fixing the boundary in the presence of Govt. subordinate officers, in
which records, a certificate of confirmation should be obtained?

(A) Land register (B) Location register

(C)  Original field measurement book (D) Location sketch

Bl oereneuuflen Cumg <irs emm Bl AQeUTEET (el erene Hliremrud Q&g e, erhs
SouamsSled sflwins o drerg) erar gmemm Glum Couer(Hid?

@A) HeoludCeu® B QL smamibd udGoul

©O) =g yoluL & seuly (D) QL sTamib Sig@iLiald

While fixing boundary lines of Govt. Depts. if any variation is indicated, proposal should be
sent to whom?

(A)  Sub Inspector of survey (B) Dy. Inspector of survey

(C)  Inspector of survey (D) A.D. survey

2ATE glewmsatan erevenavger Hlieawrwid Glgwwb Curg eNsSHungd ggibd &ligsd smi il L me,
wnp&E AMGas el Ceuemr(Hid?

A)  erm <y weumart B) siement <y uieumert

(C)  yweurar (D) 236 QuE@EHT LieurerT

If Poramboke lands are available, near the waste lands, how the relinquished areas to be
measured

(A) measured as separate sub-division (B) measured as waste lands

(C) measured as poramboke (D) not measured

sila Homsealer L&ssH® LnbCUMEE Hlomser aurlGudlear efetdslul L LGdHsmaer ereuelmm)
216755 Couam(hLd?

@A)  safl 2L 9feurs oerés CouamT(Hid B) sils HeomsarmsCol jersHs Geuem (b

©)  ypwCurssts serés Geuam(Hbd (D)  erss Couenrigwidlerene

086/DM/18 12



44.

45.

46.

47.

If the major part of waste lands are eligible for agricultures, how much area to be fixed for
the formation of a field?

(A) 4 Hectares (B) 3 Hectares

(C) 5 Hectares (D) 2 Hectares

Quiiu sfls LEHsdr, elasmusdbE Thn amsd EmbSTD, Taaera LY Qs Lab
S| MLDEHSHEMLD?

A) 4 QansCLm B) 30CensGLr

(©) 50ansCLi D) 20QansGLmr

What is the Railway permanent lands?

(A)  Railway Transport Area (B) Railway Offices Area
(C) Railway Station Area (D) Railway Quarters Area
TulleGeu by Hlevid eremiig) erg)?

A) rlloGeu CuTs@uISE LGS B)  TulCGou SIS LGS
©C)  mulevGeu avGLgerr LGS D)  muleCGou GulBLIY LGS

In location sketch Survey No and Subdivision No will be marked in which inks in field work?
(A) Black (B) Blue

(C)  Pencil (D) Red

Hootiueaniludley, @)L Lb smemid euenyUL S, Lied eramr wmmid o L 19Mey erawrser eThg epoudlarmed & mlés
Couar(Hb?

A) sy B) e

(©) Quenfled D) Ssiy

The location land register will be prepared in which form?

(A)  Form No. 10 (B) Form No. 22
(C)  Form No. 20 (D) Form No. 21
@b sramib uHCeu® eThs Ligeusde swmt g Geuem(HLb?
(A) Uig6u eretor 10 B) ugel erewr 22
(©)  ugeu eremr 20 D) uvgeu eremr 21
13 086/DM/18
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48. While preparation of location Land Register, which No is corelated indicated to present New

Survey No.?
(A) Baimosh Nos (B) Document Nos
(C) Revenue Survey Nos (D) Sl No.

@@L sramib LUHCeu® smer CFwwb Curg, by BLUMT SHCUTMSW LSl cramamisE T
cllerssbd GN&s Couamm(hib?

A)  euwrEy eTaRTEHET B) usdr erawrser

(C)  eueuml Lo ereirger D) eufens eramrgser

49. What should be measured initially before the survey of land?

(A)  Field boundary corners measurement (B) Bends

(C)  Sub division line (D) Offsets
e SjaTened L rbla&@Gneunpg psale arans Sjerés G (HLb?
A) Yo erdene (pener SjaTey B) eaumeraysar
©)  =lffley Car( D)  ©sseraysar
50. How many distance should not be taken into account while taking offset measurements in
triangles?
(4 50m (B) 60m
C) 75m (D) 100 m
W&CaTamssler GSsera|s6r eT(hEEGLCEUTE ereualere] SIS MHE GO @) (H&sddn L Mg ?
(4) 508 (B) 608
C) 758 (D) 1005
51. How many distance should not be taken in to account while taking offset distance nearest

field trijunction in a triangle?

(A 100 m (B) 60m

C) 75m D) 50m

W&Caramsdlen  LSSSFH L PFFHEHEGE GSseTe| ThH@GHDLCUNg eeleueme FMSSHH@E G
O\(HESHEFLTE)?

(A) 100 .8 (B) 608

€ 758 (D) 5018
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52.

53.

54.

55.

If the Reserve Forest area in outside the village boundaries, how such area should be
surveyed?

(A) By creating separate triangles and forming field of should connect village boundary
(B)  Not be surveyed

(C)  Not to connect village

(D)  Separately measured

Sy erdames@ deualiCw giss sThser UGS @ mUulber SLL@Gdaw ereucurm jerés Couam(HLd?
@A)  safluns WpsCamant Ljewb emgg Simo eraamauler Qs Camhss GCeouemr (B

B)  erss Ceuamrigwigldena

(C)  dlymsgL e Qamenss Colamriq LiFdena

D)  seaflwuns jerésomd

It is necessary to note the detail name of the showing in the Field map? Is it correct?

(A)  Yes, should be noted (B) Name of the details should be noted

(C) Name not necessary (D) Not necessary details

HooliuL sdled @Lhis6r Sienowb sT(Hb o elury @iluihsefler Quwitsdr @hss CouarHib? sflwm?
@A)  &#fl @hss Couar(Hd B) eferadludlen Quwit @Mlss Ceuar(hd

C) Quur@iss Comaiuldveama (D)  earsGu Caaneuudlerena

After Compeletion of all the Survey of field work, which Appendix Form No. should be
prepared for field measurement sketch.

(A) Appendix Form No. IV (B) Appendix Form No.V

(C)  Appendix Form No. VI (D) Appendix Form No. VII

SDESF] LIQOBISE@HD AeThHE (Pl4hs e eThE ABULBSSSen Lig Lje euenyulLd Frer Gleuiw
Couar(hid?

Q) SiRuBsD Ligeud IV (B)  <mumbsb Lgeud V

(C) <SiuBsD Liged VI D)  <muBsb ugeud VII

What is the measurement to draw the map above 8 hectares of field

(A)  1mm:2000 mm B) 1mm: 1000 mm
(C) 1mm:500 mm D) 1mm:5000 mm
8 Qam&GL_(h&E G 2 6Ter 6ThS Lewsang jeraile euenr Ceuemr(hLb.
(A) 1882000 818 (B) 1.88:1000 8
(C)  1.885:500 108 (D) 1 .88:5000 A8
15 086/DM/18
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56. How the area is calculated and how it is registered for the field and subdivision in the field
map draw by the Surveyor?

(A) It should be calculated authentically

(B) It should be calculated in triangle

(C) It should be calculated by area square paper and prepared in pencil

(D) It should be in Square

Ble emellan euengey Gelwtiul L el 8l e womib 2 " 19fe|sEns@ Lriy erluly saflés
Ceuanr(hid ereucumm Lidle| Qi Couar(HLd?

@A)  saflswpanuie saflés Couam(Hbd

B)  wsCsameant panmuiled Hewtlss Gouemr(hid

© upligsatien epald saflgg Cuerslame swmm Glewius CouerHib

(D)  sgmyimwrer werpuled sanflss CouaTHibd

57. For every survey land, what is the name of the Registrar showing the subdivision, taram
and pattadar details
(A) Adangal (B) Chitta
(C)  'A'Register (D) Detail Register

eubleum Bl jemeneu Lisdn@d o L l9fe|s@h igaser ableurbd b 2 Mawipenm wpSalilamel
elupmIGeT Hrésnigw Syrogdler LHGauH erg)?

A  sLmse B) SAlonr

©)  ‘of udCau® D)  &luy udHCau®

58. What is the name of the map indicating the details of FMB, while in the office and in the

field?
(A) Village D' sketch (B) Stone sketch
(C)  Village map (D) Detail map
SADIIDSSDID LISHILD LI BISHER&E Q)LD ST I UITE 2 Se (b LIL LD 6Tg)?
A)  dgmo D' cuenyuLid B) s euemyLLLD
(C) Ay euenyuLid D)  Mersdl cuenrLIL D

59. The stone A/c Register is maintained by the surveyor in which form used?
(A) Form No. 6 (B) Form No. 7
(C) Form No. 5 (D) Form No. 4
Blev emeurmed Lpmof&s GCouemniq i &6 sanTé@E, 6Ths Ligeuld 2 LICWTdl&s & ng?
A)  ugeud erawr. 6 (B) ugeud erewr. 7
(C)  ugeud eramr. 5 (D)  uvgeud erewr. 4
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60.

61.

62.

63.

What is the name of the map to the draw offset taken to field junction in Kandan
Boundaries?

(A) Traverse map (B) Offset map

(C)  Partal map (D) Field map

sa ereemaullaliphg Lo (PpFFHE SDEHEHEE GSSMESsET THHSUIULE euarulL(L eueFLL
QUi erees?

A)  gryreurev euenyLIL LD B) ©sSs®s cueTLILLD

(C)  ulpmed euenyLULLD D) uye euemyuLD

Which officer is authorised to attend the duty of preparation of offset form partal lines?

(A) Head Draftsman (B) Sub inspector of Survey

(C)  Sr. Draftsman (D) Field Surveyor

ufLmed eowaild @&slulL epameoall L G&5sms qTHHGL Uatlanw hg aeler GlFuiu
Geuemt(hLd?

A) s SGieuaT B) e y,wieument

©C)  waiflene i@ieuei D) o siQeuei

What is the Re-Survey?

(A)  Survey of Town Area

(B)  Survey of Natham Area

(C)  Survey Street Area

(D)  Treasury Areas already surveyed by cadastral survey for many reasons
oM Hle0 DETENE GTETMTE GTETET?

A)  parugdeow ereameu Caicug

B)  BEsD LEGH emey CFlieug)

C) Qzmued <eare Cslicug

D)  gnsaCeu sLmevl_Fe &TCeu QFIS LGSl LIed STTanThsEhs @ amanel CFlialg)

The subdivision in the survey field is serial by arranged how?

(A) By letters (B) By Nos
(C) By no and letters (D) By mark
o sjarenel Ljogdler 2 L 19fleysaer ereuaimm euflansiLi(hés Couem(HLd?
A) ez algeild (B)  erawramrmed
(C)  eremamib erpsgId D) @dlwmre
17 086/DM/18
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64. During the Re-survey how the Poramboke lands are surveyed

(A)  Asin the field at present (B) According to Pattadar Enjoyment
(C)  Vide old Area (D) Porambokes should be reestimated
bl Sereneuudled YmbCuTE@Gaeaer ereueumm ey jemenel Glaguwiw Gouam(HLbd.
A)  snCumg YBluld 2 drer Lilg (B) ulLmrgrpm Sigiueliig
(C)  uewpw uFLILIETE Ly D) ypwCursgsdr wmwdiiL CFiieug

65. After the completion of field work, land records and maps will the sent to which officer?
(A)  Collector (B) Revenue Divisional Officer
(C)  Revenue Inspector (D) Special Tahsildar
Lagsailéams Ll Hlambse|_ar HlaliLdGail) aiaiy LLLDb, 6T SIalelamés SialiL Caiam(Lb?
A wmeulL eyl Hwir (B) GamlL eu@meumis ogieuei
(C)  eumeumi <y icumeri D)  sgeafl eulLm Huwir

66. What is the Survey and Boundaries Act VIII 1923 U/s. 8(1)?
(A)  Notice for collection form land for survey stones cost
(B)  Appeal to A.D.
(C)  Appeal to Inspector
(D)  Final Notification
1923-1b e () Hled jemenel eTeana&6T GNSS 8-eugl FL b fle| 8(1) ereruig
Q)  Crrilieev smGeu sna@EnssTear Sl Cgsransam cu@ed Cauiw Hlo 2 aLem
B)  Cuweawpampuip 2 56l QusEHT
C)  uweurermsE Cwawpearnui(
D) Qs ofsws

67. What is the target fixed for the inspection of stones by the Fista Surveyor over to inspection
of stones by VAQO's?
A  50% B) 15%
C) 40% D) 20%
Slgmo BliTeurs Sjgieuar santlsams (Flg sHaetle) Gmeul L eTeu TS e &g,@ﬁg,Lb sanflsang Claw w
Couar(hid?
A 50% B) 15%
C) 40% D) 20%
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68.

69.

70.

71.

72.

How many hectares are fixed for the formation of wet and dry lands in cadastral survey?

(A)  Wet 1 Hec. Dry 3 Hec. (B) Wet 3 Hec. Dry 5 Hec.

(C) Wet 2 Hec. Dry 4 Hec. (D) Wet 4 Hec. Dry 8 Hec.
sLmevL e #TCeuulled BErens LEhand Liemiser erdsanen (ansCL il ojannds CeuemT(hib.
A)  pepems 1 Hans. Lepans 3 ands. (B) pepans 3 Qans. Lerang 5 Clans.
(C)  pepens 2 ans. Ljehang 4 Cans. (D) pEpans 4 Qans. Lerang 8 Glans.

In Town Survey, Close block areas should be measurement in the scale of

(A  1mm 250 mm B) 1mm 500 mm

© Imm 1000 mm (D) 1mm 2000 mm
Lajer #TGauulled Qpmasnrar U@GHaw evCaia (panmLiLilg jarés Colam(hLb.
A) 108 250 108 (B) 188 500 918

(C) 1.8 1000 9S8 (D) 1.8 2000 A8

In field, one junction to other junction point is formed a line is called

(A)  'F'line B) 'G'line
(C)  Subdivision line (D) Detail line
@m bl yetafluladlmpbg wHGnmm el yereflsg yosdar  oemwowyd  Csmh
erenm Ui
A 'F erevener Cam( B) 'G' aoveme Cam(
(C) =219 Mey Car( D) MersaCan(h
Square root of 25600
A 260 (B) 600
(C) 180 (D) 160
25600 aur&s eLpeoid
(A) 260 (B) 600
(C) 180 D) 160
Square root of 33856
(A) 164 (B) 184
€ 144 D) 174
33856 6ulM&s eLpevLd
A) 164 (B) 184
© 144 D) 174
19 086/DM/18
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73. When was started the survey of India?
(A) 1800 A.D. (B) 1900 A.D.
(C) 1923 A.D. (D) 1767 A.D.

#mCeu U1 @bHwim eriGuing) < rl9&Gsiul L g ?

A £.49.1800 (B) £.49.1900

(C) £.49.1923 D) &.9.1767
74. The Great trigonometrical survey in began in

(A) 1800 (B) 1802

(C) 1900 (D) 1923

8 SCr LanpCamant@liol Maed #TGou 6ThE perr(h Csmmsliil L g ?

(A) 1800 (B) 1802
(C) 1900 (D) 1923
75.  Isthe line drawn from one station to another station.
(A)  'G'line (B) Partal Line
(C) Traverse line (D) 'F'line
@ Blaawgdldmbg) LHCDT® flaawsdnE eiemuiu@b Csmh ECRENCTE
A  'G' Garh B) ulgme Car
C)  wyreuiev Cam(® (D) 'F'Car®
76. Uses Trianyalation network for connecting major and minor geodic stations (GT Stations)
(A)  The Survey of India (B) Central Survey
(C)  Daistrict Survey (D) Village Survey

AMlw Quilw HCwmes Blavwmise (GT Hlavowrisdr) pa&GHmam Genamr S6TD (LPaLD B)anamTéE LD

o LCWsSMS Qewldlng.
A)  #rCeu U1 @pSHwr B) Qe _gé arGeu
(C)  wreul L srGeu D) Fpmw #1Geu
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7T,

78.

79.

80.

Azmuth must also be observed at intervals of or stations

through main circuit boundaries.

(A) 10 or 20 stations (B) 5 or 10 stations
(C) 40 or 50 stations (D) 15 or 20 stations
S|DOG G agens@rdh@ Qe uier Cluder srew,l eredeneued

S|EVLDG SeTlq LILITS 6T (H&& GCeuemT(hLbd.

A) 10 (=) 20 Hovriser (B) 5 (<=t) 10 Hlavusar
(C) 40 (=) 50 Hlevrisar (D) 15 (<) 20 Hlevriser
The use of the Azimuth observation is to detected rectify the of the main

circuit boundary.

(A) Measurement Error (B) Area error

(C)  Survey error (D) Angular error
Sjevng eT(Hg 2 LGuITSllingmre Gouder #réwl erevanaudled erouBID.

A)  jerey Wenip (B) ugly Genp

(C)  He jarencu GenLp (D)  Csmewr =eme Yenip

The difference is distance of the GT survey of revenue survey should not exceed

(A)  One per hundred (B) One per thousand

(C)  One per five hundred (D) One per three hundred

GT &iCeu, aumeurls gieom &TCeus@b o erer gnsdler Coumuim( SeTlq LILITE
IOIGEEAES

A)  mile 1 wLrig B)  <uWlrsse 1 bLkiE

(C) 500 1 L (D) 300éb 1 oL _rhus

Latitude and Longitude values for the GT stations are furnished with reference to the

(A)  Everest spheroid B) WGS. 94
(C) WGS. 92 (D) WGS. 80
2L gCrans, SraaCrans Ceaudww, GT Hlavawsdalmbg er®ssiul (B efuurissiulLg).
Q)  erau@revl ev@upmi (B) WGS. 94
(C) WGS. 92 (D) WGS. 80
21 086/DM/18
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81. are taken mostly through diagonal and offset method using chain and
cross staff.

(A) Linear measurements (B) Angle measurements

(C)  Offset measurements (D) Circle measurements

Qaullenr Symev evLm’ 2 LGuTsSSHerm Lig epameail L CFni@Essera] (pepm CPOLTE OlLIHLOLTETET
B L b emaser er(HEELILIHE D).

Q)  Cpli@gssmer o6me ger (B) Csrewr sierealsar
(©)  YUlsl emeyser D) el L erayser
82.  Village Traverse Boundaries have been demarcated using
(A)  Chain cross staff (B) Plane table
(C) Tape (D) Theodolite
ST 4 FTEUTED GTEOMVSET EPEOLD eTEHELILIHNH MG
A GQeuler sl en B) 9Carer CL1Ger
© Gy (D)  SHCwren_amavl”
83. Polyconic projection for and larger scales on the Everest spheroid used by
SO1.
(A) 1:1,00,000 (B) 1:2,00,000
(C) 1:2,50,000 (D) 1:1,50,000
auanruLLb unellCamaflé Limm&agen epaid HMID Guflw euer 2eTe| eTeuGrevl evCuFTL( FTCeu L
@pHwur o LGundlerme.
(A) 1:1,00,000 (B) 1:2,00,000
(C) 1:2,50,000 (D) 1:1,50,000

84. What is Latitude and Longtitude of Chennai?

(A) Lat18°:0'4:00".00 (B) Lat13°:0'4:00".00
Long 85°:1'5: 00".00 Long 80°:1'5: 00".00
(C) Lat12°:2'4:09".00 (D) Lat11°:3'0:55".00
Long 79°:1'2: 40".00 Long 79°:1'9:12".60
Qgeener 2L gGrenas ETssCrens erere?
A) o sCrens 18°:0'4 : 00".00 B) o sGrens 13°:0'4: 00".00
&résCrens 85° 1 1'5 1 00".00 &r&sCrens 80° : 1'5 : 00".00
(C)  <=leCGrens 12°:2'4:09".00 D) < sCrens 11°:3'0: 55".00
&résCrens 79° 1 1'2 1 40".00 &r&sCrens 79° 1 1'9 1 12".60
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85.

86.

87.

88.

89.

The Village Boundary is marked as a traverse linked to nearest station.

(A)  Total station (B) Radio station

) G.T. (D) Khantam station

Sgmo  creemaudled gpmeuey  GMSSLILLEH,  DHED o eTer Blenaowig gl
@ enenTdEE UL (HETETS).

(A)  GurmLme evGLger B)  CrgCur fleneowid

(C) G.T. fleweowid (D)  sewrLb Hlevauwiid

DGPS means

(A)  Data Global Pole System (B) Differential Global Positioning System
(C)  Data Global Postal Service (D) Data Global Point System

GPS ereigy

@A)  Culim@CermiGume favL b B) gupemedlwe @Cermud umadliain HevLLb
(C) Criim@Cermud Cumave Fraien D) Criliim@Cermued LimiesT fevL b

GPS is operated by the

(A) Indian Army (B) England Defence
(C)  US Dept. of Defence (D) Russian Defence
GPS <& QussLLL(H uBEDS).
@A) @b rremebd B) @rdlombdler LngsmiL
(C)  US Dept. of Defence (D)  reywredler LmgsmiiLy
GPS is a preferred technology for applications.
(A) Geomentary (B) Geogetic
(C)  Geometric (D) None
GPS &&MS 2 (HeuTssLiuL L QgmfledmL L.
A) ACwrGwenr B)  HCwrClLg8 aflGCagen
(C) ACGwrGw A& D) ggome
R.T.K. means
(A) Real Time key (B) Real Time Kinemetic
(C)  Real Transfer key (D) Real Transmitter Key
R.T.K. eremmigy
A) AuverLdd B) MNwe eLib sy &
©)  Awd yrrerevum & D)  MNwed gyrerevLS L &

23 086/DM/18
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90. Two GPS stations should be kept within
(A) 120 km (B) 130 km
(C)  50km (D) 100 km

2 GPS flenaowimis@msé@er 2 ater gy km-&@ @) més Couam(Hb?

A) 12048 (B) 13048
(C) 5048 (D) 100 &8
91. Our reference system is Everest Ellipsoid which is totally different from
@A)  WGS. 80 (B) WGS. 86
(C) WGS. 84 (D) WGS. 88
BLogl eTel@pavl erelligmil (wpenm & pHMed GCoumLim_meg).
A)  WGS. 80 (B) WGS. 86
(C) WGS. 84 (D) WGS. 88

92. RINEX stands for?

(A)  Receiver In Net Exchange (B) Receiver Independent Exchange

(C) Real In Net Exchange (D) Real Independent Exchange

RINEX ecreimuigy

@A)  fadleur Qe ApL erdevCaens B) Mafleur Qetriq QUL et eT&enGaens

C)  MAwé Ger QB erdavGaens D)  MNwed Qe Lluer e erdenCaens
93. are very similar to an electronic Theodolite.

(A)  Electronic Tape Station (B) Electronic Time Station

(C)  Electronic Total Station (D) Electronic Trial Station

Bl HCwITer L1 CLimed > 6T,

A) crespreils G evGLgen B) eowsgreaid enib evCL_ger

(C) eesigrais G e evGLger D)  cresgrais Lrwd cvCLaer
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94.

95.

96.

97.

ETS can measure horizontal and vertical angles as well as

(A)  Slope distance (B) Scale distance

(C)  Sea distance (D) Shift distance

ETS Qeii@sg ubdseamns Cament SjareydHE whmib GCogib S|6TES (LPlg W|LD.
A)  smie gnyd B)  evGaxed gy

(C)  sL gyd (D) e guyid

In modern survey, the line measurement upto metres, permissible allowance 0.6 in metre.

(A) 20 metres (B) 50 metre

(C) 75 metres (D) 100 metres

peSar Hla ereanda, Bl L Siaemands B LT ey o dershE Siainddsdeng i G by
0.6 15 y,@Ld.

(A 208 (B) 5018

(C) 758 (D) 1008

In modern survey, if the line measurement of above 100 mts, permissible maximum

allowance of mts.

(A) 3 mts (B) 4 mts

©) 2mts (D) 8 mts

Belar BloDeraneuudd, BLLd areneuuiey 100 B (&@ Cod @ma@h Curg iandsssdaniqw
enLp euiLbL WL LT <y,@LD.

@ 3 B) 48

C) 28 (D) 8.5

Modern Survey of town surveys natham survey, area should be recorded in

(A) Hectare areas (B) Decimal of square metre
(C)  Decimal of square feet (D) Square metre
pejer FTGauudey, Leyer #iGou, BHD &TCeu wamflufer wpliLeTancy jeretlev

sarig LILITg Ligle] Gauiur Couer(hib.

Q) QansCGLim e B) &8 (QLAwed) gevedwid
(C) s (QLSe) D) &8

25 086/DM/18
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98.  The defects of Survey and Boundaries Act before the publication of Act
1923 have been rectified.

(A) 1900 (B) 1897

(C) 1903 D) 1907

1923-1b oy,eriq 67 FL_LD (pHang 1D DY,ETIg HEHTET cTLen@ FL_LSSled @Q(HHS Germum(

Blaugd Qe Lg.

(A)  19001d <y amr(h (B) 1897 <yeuwr(n

(C) 19031 <yewr(H (D) 1907b <y e
99. The Village map has been drawn in metric measurement

(A)  1mm:500 mm B) 1mm:250 mm

(C©) 1mm:5000 mm (D) 1mm:1000 mm

ymouLbrerg) eranrm Gl Mé emeiled euanguliLhH g

A)  18.5:500 8.8 (B) 1.19.68:25018.8

(C)  119.5:5000 8.8 (D) 18.85:1000 9.8

100. Duty of the disposal of land complaints is done by whom?
(A)  Asst. Director of Survey
(B)  Inspector of Survey
(C)  Dy. Inspector of Survey
(D)  Sub. Inspector of Survey
Blessg wpennGuw Ysmigsamer (plqe| GEliujb sLano wrymed Celwiu®hSng?
@A) egdl QuUsEpT
B)  yweumert
(C)  swewt <y wieuman

D)  grr <y weumart
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ROUGH WORK
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